Mat 1375 HWIL

Combine the terms and write your answer as one logarithm.

a) 3In(z) + In(y) b) log(z) — 2log(y)
¢) 5 log(z) — log(y) + 4log(z) d) log(zy®z?) — log(z*y*2?)
e) 1In(z) — $In(y) + 2In(z) f) —In(z? — 1) + In(z — 1)
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Write the expressions in terms of elementary logarithms v = log, (x),

v = log,(y), and w = log,(z) (whichever are applicable). Assume that
r,y,z > 0.

a) log(a? - y) b) log(Va2- /y7) <) log (\/z- /)
d) m(y—) e) ln(\/ﬁg;) f) logé(\/a\/;>
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Solve for x without using a calculator.

a)

)

In(2z + 4) = In(5x — 5)

log,(z + 5) = logy(z) + 5
e) log(z + 5)+ log(x)
g) logg(z) + logg(z — 16) = 2
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In(z +6) = In(z — 2) + In(3)
log(z) + 1 = log(5z + 380)
logy(z) + logy(z — 6) = 4
logs(z — 24) + logs(z) =
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